

MEGHANICAL LTD. 780-518-0658

Shop:	9401-78 Avenue
Clairmo	nt, AB

Mailing: Site 12 Box 7 RR2 Sexsmith, AB TOH 3C0

Unit#

Hour Meter

Odometer

Serial # / VIN

GST 792912511RT0001

Date	January 24,2025	
Technician		

61262

2LDSD5132CX054151

TB-01

Plate # 5CY9-21

Model <u>TRI - LOW</u>

PO / AFE

INVOICE

20250149

NET 30 DAYS

Customer Almost Famous Logistics LTD

780-933-3932

Address 9917 103 Ave

Clairmont, AB T0H-0W1

WORK COMPLETED / COMMENTS	PARTS / MATERIALS	QTY	UNIT PRICE	AMOUNT
CVIP	97960 - DOC HOLDER LID	1	17.40	17.40
R&R document holder lid			0.00	0.00
Unit was just serviced			0.00	0.00
			0.00	0.00
			0.00	0.00
			0.00	0.00
			0.00	0.00
			0.00	0.00
			0.00	0.00
			0.00	0.00
			0.00	0.00
		LABOUR RAT	res	
	Straight Time		x 145 / hr	
	Overtime		x 217.50 / hr	
	Other CVIP	-		4
		Parts		\$ 17.
Customer Approval		Labour		\$ 400.

Labour 400.00 **Customer Approval** 417.40 Sub Total Please sign and print your name I hereby authorize the above repair work to be done along with the necessary material, and hereby grant you/or your employees permission to operate the 25.92 **Shop Supplies** truck herein described on streets, highways, or elsewhere for the purpose of testing and/or inspecting. An express mechanics lien is hereby acknowledge on the **GST** 22.17 above truck/ trailer to secure the amount of repairs thereto. I agree to the payment terms of 30 days and agree to any past due accounts that are over 30 days will require a 2% interest fee per month that said account is overdue, and that I and/or my company is responsible for entirety of all payments associated with 465.49 Total he work done for us by Twisted Gears Mechanical ITD M

THANK YOU FOR YOUR BUSINESS



MEGHANICAL LTD. 780-518-0658

Shop: 9401-78 Avenue Clairmont, AB

Mailing: Site 12 Box 7 RR2 Sexsmith, AB TOH 3C0

GST 7	929125	11RT0001	

D	a	te	
-	•		

Te	chi	nic	ia	n

Hour Meter

Unit#	

Odometer		

INVOICE 20241034

NET	30 DAY	S

01-1-4	5CY9-21
Plate #	3013 21

Model

TRI - LOW

Customer	Almost Famous Logistics LTD		-	_			
Address 9917 10	780-933-3932	Serial # / VIN	2LDSD132GX054151		PO / AFE		
	9917 103 Ave						_
	Clairmont, AB T0H-0W1						
	WORK COMPLETED /	COMMENTS	PARTS / MATERIALS	QTY	UNIT PRICE	AMOUNT	_
Grease / Serv	vice unit		2002D - AIR TANK	1	212 28	212 28	

October 16,2024

TB-01

61257

WORK COMPLETED / COMMENTS	PARTS / MATERIALS	QTY	UNIT PRICE	AMOUNT	
Grease / Service unit	2002D - AIR TANK	1	212.28	212.28	
R&R D/S/#2 axle airbag	AS9580P - AIR BAG	1	173.40	173.40	
R&R air tank	68RBSG-8-6 - BRASS	12	30.90	370.80	
Air lines were all press on brass, Had to cut all of them & install new ones	110800 - VALVE	1	159.90	159.90	
R&R spring brake control valve as it was 1/2 rotten	2202P-6-6 - BRASS	2	6.96	13.92	
Re mount J-box at #2 axle	216P-6 - BRASS	2	5.40	10.80	
Set brakes	207P-6 - BRASS	2	5.04	10.08	
	68NTA-6-6 - BRASS	1	6.24	6.24	
	269NTA-6-6 - BRASS	3	7.38	22.14	
	272NTA-6-4 - BRASS	1	12.30	12.30	
	EP-2 - GREASE	3	12.00	36.00	
	LABOUR RATES				
	Straight Time	8	x 145 / hr	1160	
	Overtime				
	Other CVIP		-		
Customer Approval		Parts Labour		\$ 1,027.86 \$ 1,160.00	
	-	Sub Total		\$ 2,187.86	
Please sign and print your name I hereby authorize the above repair work to be done along with the necessary material, and hereby grant you/or your employees permission to operate the		Shop Sup		\$ 75.17	
truck herein described on streets, highways, or elsewhere for the purpose of testing and/or inspecting. An express mechanics lien is hereby acknowledge on the		GST Sup	hiles	\$ 113.15	
above truck/ trailer to secure the amount of repairs thereto. Lagree to the payment terms of 30 days and agree to any past due accounts that are over 30 days will require a 2% interest fee per month that said account is overdue, and that Land/or my company is responsible for entirety of all payments associated with		54T1THT4.		_*_	
he work done for us, hy Twisted Gears Mechanical ITD ®		Total		\$ 2,376.18	
THANK YOU FOR YOUR RUS	CINIECC				

THANK YOU FOR YOUR BUSINESS



MECHANICAL LTD. 780-518-0658

Shop:	9401-78 Avenue
Clairmo	ont, AB

Mailing: Site 12 Box 7 RR2 Sexsmith, AB TOH 3CO

GST 792912511RT0001	Hour Meter
doi /ozoizoiimioooi	noul weter

Set	Idi	# /	v	11.4

Date

Unit#

Technician

INVOICE January 25,2023 20230116

NET	30	DAYS

5CY921

Plate # Model

TRI-LOW

-				
Cu	ıs	to	m	ıeı

Almost Famous Logistics LTD

780-933-3932

Address 9917 103 Ave

Clairmont, AB T0H-0W1

rial # / VIN	2LDSD51320X054151	PO / AFE

TB-01

9033

WORK COMPLETED / COMMENTS	PARTS / MATERIALS	QTY	UNIT PRICE	AMOUNT
PARTS PG # 2	67005 - PIGTAIL	2	7.82	15.64
	10700 - RUBBER	5	5.75	28.75
	G1002 - LIGHT	5	14.95	74.75
	4707 - SHOE	1	102.93	102.93
	93600 - DRUM	1	173.08	173.08
	5353229 - CAM TUBE	1	113.39	113.39
	93908 - TRIPLE 2 PRONG	1	24.27	24.27
	04-562351 - CAM	1	72.51	72.51
	EP-2 - GREASE	3	9.78	29.33
	PRIMER / PAINT	2	28.75	57.50
	60681 - LIGHT	1	25.08	25.08
	LABOUR RATES			
	Straight Time		x 145 / hr	
	Overtime			
	Other CVIP			
Customer Approval	•	Parts Labour	-	\$ 717.2
Please sign and print your name	=	Sub Tota	í	4
hereby authorize the above repair work to be done along with the necessary material, and hereby grant you/or your employees permission to operate the		Shop Sup		\$ -
ruck herein described on streets, highways, or elsewhere for the purpose of testing and/or inspecting. An express mechanics lien is hereby acknowledge on the		GST		\$ - \$ -
above truck/ trailer to secure the amount of repairs thereto. I agree to the payment terms of 30 days and agree to any past due accounts that are over 30 days will require a 2% interest fee per month that said account is overdue, and that I and/or my company is responsible for entirety of all payments associated with he work done for us, by Twisted Gears Mechanical ITD 8		Total		\$ -
THANK YOU FOR YOUR RUS	CINIECC			



Preventative Maintenance

Date: 18N 25, 2023 Time:Loc	ation: TWISTER	n GEARS	MECHANICA
Licence Plate: SCY92) Unit #: TB-01 Odd	ometer/Hour Mete	r: <u>9033</u>	3
	Good	Defective	N/A
Body and Seats (S.1)			
Chassis Frame (S.2)			
Body Frame (S.3)	~		
Sliding Subframe (S.4)			
Underbody (S.5)	- L		
Drive Shaft & Components (S.6)			
Window and Mirrors (S.7)			
Fuel (S.8)			
Exhaust (S.9)			~
Friction Components (S.10)	~		
Hydraulic & Vacuum-assist Brake Components (S.11)			
Mechanical Components (S.12)	_		
Brake Pedal (S.13)			
Air Brake System (S.14)	<u></u>		
Park Brake (S.15)			
Brake System (S.16)			
Engine Controls (S.17)			
Steering Column and Box (S.18)			
Wheel Alignment (S.19)			
C-Dolly Steering (S.20)			
Steering Linkage (S.21)			<u> </u>
Suspension (S.22)		1	
General Requirements (S.23)		<u> </u>	
Windshield Wipers and Washers (S.24)			-
Heating and Defrosting System (S.25)			
Starting Switch (S.26)			
Lamps and Reflectors (S.27)			
Tires (S.28)			
Wheels (S.29)	<u> </u>		
Lubrication (S.30)			
Fifth Wheel Coupling Device (S.31)			-
Trailer Hitch, Trailer Mount and Connecting Devices (S.32)			

Rear Impact Guards (S.33)

NOTE: Refer to Schedule 2 of the <u>Commercial Vehicle Safety Regulation</u> (AR 121/2009).

Defect/Corrective Action	Responsibility	Target Date	Date of Completion
LIGHTS /BOXES	TWISTED GEDRS	JAN 25, 2023	JAN 26, 2023

Inspector Name: DARREL	Inspector Signature:	
47.4 March 50.7 (47.7 (47.4) 0.8 (17.0 (4.8) (4.1)		



MECHANICAL LTD. 780-518-0658

Shop: 9401-78 Avenue Clairmont, AB

Mailing: Site 12 Box 7 RR2 Sexsmith, AB T0H 3C0

GST 792912511RT0001

Date			

Technician

Hour Meter

Odometer

Unit#

тв-01

January 25,2023

9033

NET 30 DAYS

Plate #

5CY921

INVOICE

20230116

Model TR

TRI-LOW

Customer

Almost Famous Logistics LTD

780-933-3932

Address 9917 103 Ave

Clairmont, AB T0H-0W1

Serial # / VIN	2LDSD51320X054151	PO / AFE	

WORK COMPLETED / COMMENTS	PARTS / MATERIALS	QTY	UNIT PRICE	AMOUNT
R&R strobe light switch & repair wiring	5582-10-BX - SWITCH	1	44.02	44.02
R&R P/S/#3 axle ABS sensor & extension	9404-11 - BOOT	1	5.85	5.85
R&R P/S/#3 axle S-Cam , Tube , Pads & drum	577.A7130300 - ABS EXT	1	69.00	69.00
Cut out all Rear light boxes	577.A5336 - ABS SENSOR	1	97.87	97.87
Neld new boxes in , Prime / Paint inside & out Rewire & install lights	1073 - BOX	2	90.33	180.67
nstall new L/P light & wire in	1010 - BOX	2	37.03	74.06
Service Unit	1060 - BOX	2	50.66	101.32
	1050 - BOX	1	59.87	59.87
	94901 - PIG TAIL	1	6.33	6.33
	53253 - LIGHT	2	19.63	39.26
	PARTS PG 2	1	717.21	717.21
	L	ABOUR RATE	S	
	Straight Time	17	x 145 / hr	246
	Overtime		x 217.50 / I	
	Other CVIP		_	
		Parts	-	\$ 1,395.45
Customer Approval	_	Labour		\$ 2,465.00
Please sign and print your name		Sub Tota	S.,	\$ 3,860.45
hereby authorize the above repair work to be done along with the necessary material, and hereby grant you/or your employees permission to operate the	•	Shop Sup	plies	\$ 150.00
truck herein described on streets, highways, or elsewhere for the purpose of testing and/or inspecting. An express mechanics lien is hereby acknowledge on the above truck/ trailer to secure the amount of repairs thereto. I agree to the payment terms of 30 days and agree to any past due accounts that are over 30 days		GST	-	\$ 200.52
will require a 2% interest fee per month that said account is overdue, and that I and/or my company is responsible for entirety of all payments associated with		Total		\$ 4,210.97



MECHANICAL LTB. 780-518-0658

Shop: 9401-78 Avenue Clairmont, AB

Mailing: Site 12 Box 7 RR2 Sexsmith, AB TOH 3C0

GST 792912511RT0001

Date

Technician

Unit#

Hour Meter
Odometer

51328

December 21,2023

TB-01

INVOICE 20231221

NET 30 DAYS

Plate # 5CY921

TRI-LOW

Customer

Address

Almost Famous Logistics LTD

780-933-3932

9917 103 Ave

Clairmont, AB T0H-0W1

Serial # / VIN 2LDSD5132GX054151

PO / AFE

Model

WORK COMPLETED / COMMENTS	PARTS / MATERIALS	QTY	UNIT PRICE	AMOUNT
CVIP	04-310 - SNAP RING	1	3.02	3.02
nstall missing snap ring & washer P/S/#2 axle S-cam	04-301 - WASHER	1	3.46	3.46
R&R P/S/#3 axle ABA pin bushing	427-10558 - ABA KIT	1	24.01	24.01
Top up hub oil	20088 - HUB OIL	1	15.00	15.00
ree up tie down ratchets	359-5990 - PLUGS	6	12.00	72.00
R&R 4 tires Customer supplied	EP-2 - GREASE	1	12.00	12.00
R&R all oil hub caps / breathers	93600 - DRUM	1	186.00	186.00
R&R P/S/#2 axle brakes , drum & wheel seal	4707 - PADS	1	107.40	107.40
Weld s-cam tube to spider P/S/#2 axle	327-7097 - SEAL KIT	1	78.00	78.00
Service unit			0.00	0.00
			0.00	0.00
		LABOUR RA		
	Straight Time	6	5 x 145 / hr	
	Overtime	·	x 217.50 / hr	
	Other CVIP	-	_	
		Parts		\$ 500.
Customer Approval	20	Labour Sub Total	ri e	\$ 1,270 \$ 1,770
Please sign and print your name hereby authorize the above repair work to be done along with the necessary material, and hereby grant you/or your employees permission to operate the		Shop Sup		\$ 1,770
ruck herein described on streets, highways, or elsewhere for the purpose of testing and/or inspecting. An express mechanics lien is hereby acknowledge on the		GST Sup	phies	\$ 92
bove truck/ trailer to secure the amount of repairs thereto. I agree to the payment terms of 30 days and agree to any past due accounts that are over 30 days will require a 2% interest fee per month that said account is overdue, and that I and/or my company is responsible for entirety of all payments associated with		Total		\$ 1,945
ne work done for us, by Twisted Gears Mechanical ITD ®	MARCE	Total		2,54.



Preventative Maintenance

Date: December 21,2023	_ Time:		Location: Twisted Gears Mechanical Ltd		
Licence Plate: 5CY921	Unit #:	TB-01	Odometer/Hour Meter:	51328 HRS	

	Good	Defective	N/A
Body and Seats (S.1)			/
Chassis Frame (S.2)	/		
Body Frame (S.3)	/		
Sliding Subframe (S.4)			
Underbody (S.5)			
Drive Shaft & Components (S.6)			V
Window and Mirrors (S.7)			V
Fuel (S.8)			/
Exhaust (S.9)			
Friction Components (S.10)	/		
Hydraulic & Vacuum-assist Brake Components (S.11)			/
Mechanical Components (S.12)		/	
Brake Pedal (S.13)			_
Air Brake System (S.14)	/		
Park Brake (S.15)	/		
Brake System (S.16)	/	✓	
Engine Controls (S.17)			/
Steering Column and Box (S.18)			✓
Wheel Alignment (S.19)	✓		
C-Dolly Steering (S.20)			/
Steering Linkage (S.21)			/
Suspension (S.22)	/		
General Requirements (S.23)	/		
Windshield Wipers and Washers (S.24)			✓
Heating and Defrosting System (S.25)			/
Starting Switch (S.26)			/
Lamps and Reflectors (S.27)	✓		
Tires (S.28)	/		
Wheels (S.29)	/		
Lubrication (S.30)	/		
Fifth Wheel Coupling Device (S.31)	/		
Trailer Hitch, Trailer Mount and Connecting Devices (S.32)	✓		
Rear Impact Guards (S.33)	/		

NOTE: Refer to Schedule 2 of the <u>Commercial Vehicle Safety Regulation</u> (AR 121/2009).

Defect/Corrective Action	Responsibility	Target Date	Date of Completion
REPAIR S-CAM	TWISTED GEARS	DECEMBER 21,2023	DECEMBER 21,2023
R&R 1 BRAKE	TWISTED GEARS	DECEMBER 21,2023	DECEMBER 21,2023

Inspector Name:	DARREN SCOTT	Inspector Signature:	Darren Scott	
-----------------	--------------	----------------------	--------------	--



9917 103 Ave

Clairmont, AB T0H-0W1

Address

780-518-0658

Shop: 9401-78 Avenue Clairmont, AB

Mailing: Site 12 Box 7 RR2 Sexsmith, AB TOH 3CO

GST 792912511RT0001

Date	December 19,202
Technician	

Unit# TB-01

0-NEW Odometer

Serial # / VIN

INVOICE 20221217

NET 30 DAYS

Plate #

5CY921

TRI-TROMBONE Model

Almost Famous Logistics LTD Customer 780-933-3932

Hour Meter

2LD5D5132CX054151 PO / AFE

WORK COMPLETED / COMMENTS PARTS / MATERIALS **UNIT PRICE** AMOUNT QTY CVIP 20088 - HUB OIL 14.38 14.38 1 Top up Both #2 axle hub oil 1040 - BOX 2 49.45 98.90 Top up P/S/#1 axle hub oil 53963 - LIGHT 103.50 2 51.75 R&R both side marker/signal lights with weld on steel boxes & wire in 60700 - GROMMET 8.05 16.10 2 Free up all tie down ratchets XA-V-90-10 - CRANK 1 51.29 51.29 Free up swing out light arms 67005 - PIGTAIL 7.82 15.64 R&R all flags G1003 - LIGHT 1 14.95 14.95 R&R D/S/middle swing out light 30250Y - LIGHT 14.95 14.95 R&R ABS light, Mount & pigtail 78333 - LIGHT 1 14.95 14.95 R&R P/S/FRT marker light 650-0532 - HUB METER 126.79 126.79 R&R #3 axle ABA pins/bushings PARTS PG # 2 1 205.16 205.16 Secure air lines to cross members **LABOUR RATES** Install anti skid on P/S/#1 axle 1560 Straight Time 12 x 130 / hr Install hub meter Overtime x 195 / hr R&R dolly leg crank 400 Other CVIP Straighten out control box & install missing rivets **Parts** 676.60 **Customer Approval** 1,960.00 Labour **Sub Total** 2,636.60 Please sign and print your name I hereby authorize the above repair work to be done along with the necessary material, and hereby grant you/or your employees permission to operate the **Shop Supplies** 121.13 truck herein described on streets, highways, or elsewhere for the purpose of testing and/or inspecting. An express mechanics lien is hereby acknowledge on the **GST** 137.89 above truck/ trailer to secure the amount of repairs thereto. I agree to the payment terms of 30 days and agree to any past due accounts that are over 30 days will require a 2% interest fee per month that said account is overdue, and that I and/or my company is responsible for entirety of all payments associated with Total 2,895.62 he work done for us hy Twisted Gears Mechanical ITD ®



Preventative Maintenance

Date: DEC 19, 622 Time:Loca	tion: [WSIED (SEPAS ME	HAMICAL
Licence Plate: 5Cy921 Unit #: TB-01 Odo			
	Good	Defective	N/A
Body and Seats (S.1)			
Chassis Frame (S.2)			
Body Frame (S.3)			
Sliding Subframe (S.4)			1400
Underbody (S.5)	- L		
Drive Shaft & Components (S.6)			
Window and Mirrors (S.7)			~
Fuel (S.8)			
Exhaust (S.9)			
Friction Components (S.10)			
Hydraulic & Vacuum-assist Brake Components (S.11)			
Mechanical Components (S.12)			
Brake Pedal (S.13)		<u> </u>	
Air Brake System (S.14)			
Park Brake (S.15)			
Brake System (S.16)			
Engine Controls (S.17)			
Steering Column and Box (5.18)			
Wheel Alignment (S.19)		-	
C-Dolly Steering (S.20)			
Steering Linkage (S.21)		-	
Suspension (S.22)			
General Requirements (5.23)			
Windshield Wipers and Washers (S.24)		<u> </u>	
Heating and Defrosting System (S.25)			
Starting Switch (S.26)			
Lamps and Reflectors (S.27)		-	
Tires (5.28)			-
Wheels (S.29)			
Lubrication (S.30)			
Fifth Wheel Coupling Device (S.31)			
Trailer Hitch, Trailer Mount and Connecting Devices (S.32)			
Rear Impact Guards (S.33)	ide Cefebra Centrici	- (AD 171 (2000)	
NOTE: Refer to Schedule 2 of the Commercial Vehi	cie sajety kegulatio	11 (AK 121/2009).	

Responsibility	Target Date	Date of Completion
TWISTED GEDRS	DEC 19, 2022	DEC 19,2022
Scott Inspector	\ \	
	TWISTED GEORS	TWISTER GEDRS DEC 19, 2022



ME©HANICAL LTD. 780-518-0658

Shop: 9401-78 Avenue Clairmont, AB

Mailing: Site 12 Box 7 RR2 Sexsmith, AB T0H 3C0

GST 792912511RT0001

Date	

Technician _____

Unit #		
Hour Meter		

Odometer 0-NEW

0-NEW			

December 19,2022

TB-01

INVOICE 20221217

NET 30 DAYS

Plate #

5CY921

Model

TRI-TROMBONE

Custome	er
---------	----

Almost Famous Logistics LTD

780-933-3932

Address

9917 103 Ave

Clairmont, AB T0H-0W1

	2LD5D5132CX054151	PO / AFE	
Serial # / VIN	20000313200034131	PO/AFC	

WORK COMPLETED / COMMENTS	PARTS / MATERIALS	QTY	UNIT PRICE	AMOUNT
Service unit	610-0065 - BRACKET	1	37.38	37.38
	ABA PIN/BUSHING	2	22.43	44.85
	21101 - FLAGS	6	11.50	69.00
	SKIDD - ANIT SKID STRAPS	1	4.60	4.60
	EP-2 - GREASE	4	9.78	39.10
	10728 - PLASTIC BRACKET	1	10.24	10.24
			0.00	0.00
			0.00	0.00
			0.00	0.00
			0.00	0.00
			0.00	0.00
	LABOL	ABOUR RAT	ES	
×	Straight Time	x 130 / h		
	Overtime		x 195 / hr	
	Other CVIP			
		Parts		\$ 205.16
Customer Approval		Labour Sub Tota		\$ -
Please sign and print your name I hereby authorize the above repair work to be done along with the necessary material, and hereby grant you/or your employees permission to operate the		Shop Su	-	\$ -
truck herein described on streets, highways, or elsewhere for the purpose of testing and/or inspecting. An express mechanics lien is hereby acknowledge on the		GST	nevas :	±1
above truck/ trailer to secure the amount of repairs thereto. I agree to the payment terms of 30 days and agree to any past due accounts that are over 30 days will require a 2% interest fee per month that said account is overdue, and that I and/or my company is responsible for entirety of all payments associated with		Total		
he work done for us hy Twisted Gears Mechanical ITD® THANK YOU FOR YOUR BU		iotai		